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1.  You are North on the following hands  
 

  North South  

  1 1♠   

  ?    

What do you rebid? 

      

(a)  (b)  (c)  (d) 

♠ AK75 ♠ 53 ♠ AQ76 ♠ 9763

 KQJ87  KQ975  AQJ87  AKQJ7

 97  KQ42  A5  QJ9

 86  A6  65  7

        

2♠  2  3♠  2♠ 
 

 
2. You are West on the following hands   

 

 West North East    South 

 1 1 1♠ Pass  

 ?     

What do you rebid? 

      

(a)  (b)  (c)  (d) 

♠ KQ76 ♠ Q6 ♠ AJ ♠ AK

 A42  A85  AK87  9

 5  KJ10  32  A963

 AKJ109  KQ1087  KQJ76  QJ10874

        

4♠  1NT  2  2 
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3. You are West on the following hands   

 

 West North East    South 

 1♠ Pass 2 Pass  

 ?     

What do you rebid? 

      

(a)  (b)  (c)  (d) 

♠ A9543 ♠ QJ76 ♠ KJ1054 ♠ KJ1054

 KQ5  AK4  K82  AQ93

 K43  J82  A  AK

 K6  AK2  J863  J6

        

2NT  3NT  3  3 
 

 
4. You are West on the following hands   

 

 West East 

 1  1NT 

 ?   

(a)  (b) 

♠ A843 ♠ K632

 KQ765  AK65

 Q6  98

 K8  AK7

    

Pass  2NT 
 

 

 
 

 West East 

 1  2NT 

 ?   

(a)  (b) 

♠ 652 ♠ KQ5

 AJ1083  AKJ876

 A  KJ7

 A987  2

    

3  4 

5. You are North on the following hands   
 

 North South   

 1   2    

 ?     

What do you rebid? 

      

(a)  (b)  (c)  (d) 

♠ J75 ♠ K4 ♠ A76 ♠ AQ6

 A432  A  J1042  Q1095

 AQJ94  AJ765  AK74  AKJ109

 9  AQ632  K2  5

        

2  4NT  2NT  2 
 

 


